cabins for tractors

¥ = TORINCANAB2

Via Drubiaglio6/17 10040 Frazione Rivera ALMESE (T0) Italy
export@torincab2.com Tel. +39 011 9352688 www.torincab2.com

REF.

VS-1
SzZ-1
SZ-2
KVL

VL-T
TL-1

VR1
VR2
VR3
VR4

PT-0

PT-1

PT-2

PT-3

PT-4

ALM
PP1
PP-2
SL-1
SL-2
CR-1
CR-2
CR-3
CR-4
CR-5
CR-6
CR-7
CR-8
CR-9
CR-10
CR-11
CR-12
CR-13
DS-1
DS-2
DS-3
DS-4
PC-1
PC-2
PC-3

PC-4
PC-5
PC-6
PC-7
PC-8

VTB

VTL

VTP

VTV
RONDELLE
DADO
1101116
CDPM8
CDPM6
PPV-0930

PPV-0935

PPV-0944

PSG-1

PSG-2
SVP

SPARE-PARTS CATALOGUE 2024

ITEM

WINDSCREEN-WASHER TANK

SPRINKLER

SPRINKLER

COMPLETE KIT WINDSCREEN-WASHER TANK

Front wiper kit: 4m of hose + 1 wiring + 1 button + 1 vaporizer + 1 bowl + 1 bowl holder

Front and rear wiper kit: 5m of hose + 1 wiring + 1 button + 2 sprinklers + 1 connection "T" + 1 bowl + 1 bowl holder
PIPE-FITTING AT "T" IN PVC

PIPE FOR WINDSCREEN-WASHER TANK

ANTI-RUST PAINT

PAINT ( Specify the colour)

CATALYST

SPRAY PAINT (Specify the colour)

PAINTED DOOR FRAME WITH EXTERNAL STRUCTURE ON GLASS PERIMETER Previous series
Specify the side in the direction of travel and the reference code of the spare parts of the cabin
PAINTED DOOR FRAME WITH INTERNAL STRUCTURE "HANDLE" Current series

Specify the side in the direction of travel and the reference code of the spare parts of the cabin
COMPLETE DOOR WITH EXTERNAL FRAME ON GLASS PERIMETER

Specify the side in the direction of travel and the reference code of the spare parts of the cabin
Includes: painted door frame + door glass + gasket + handle + lock + hinges

COMPLETE DOOR WITH INTERNAL FRAME

Specify the side in the direction of travel and the reference code of the spare parts of the cabin
Includes: painted door frame + door glass + gasket + handle + lock + hinges

COMPLETE DOOR WITH EXTERNAL FRAME ON GLASS PERIMETER

CUSTOM-MADE WITH OPPOSITE HAND SAMPLE

Includes: painted door frame + door glass + gasket + handle + lock + hinges

STICKER COVER LOCK ON GLASS DOOR

REAR BULKHEAD WITHOUT GLASS

REAR BULKHEAD WITH GLASS

FRONT/REAR FRAME FOR GLASS

COMPLETE FRONT/REAR DOOR

IRON DOOR HINGE

WINDOW HINGE

TRAP DOOR HINGE

PLASTIC HINGE

UPPER DOOR HINGE

LOWER DOOR HINGE

SIDE-WINDOWS HINGE

UPPER / LOWER IRON HINGES FOR RIGHT SIDE DOOR FOR BCS MATRA 205

UPPER / LOWER IRON HINGES FOR LEFT SIDE DOOR FOR BCS MATRA 205

IRON DOOR HINGES FOR BCS MATRA 300 (Specify right - left)

IRON HINGES FOR REAR WINDOW FOR N.H. TK4.80V (Specify right - left)

IRON HINGES FOR REAR WINDOW FOR N.H. TK4.90 (Specify right - left)

IRON HINGES FOR REAR WINDOW FOR A. CARRARO TRX 10900 R (Specify right - left)
CRYSTAL BUSHING WITH RUBBER WASHER

BUSH FOR CRYSTAL

RUBBER WASHER

COMPLETE KIT OF 2 WINDOW SOCKETS + 2 RUBBER WASHERS + TSB M8 SCREWS
RUBBER FOR CRYSTAL WITH INTERNAL BUSHING

RUBBER FOR WINDSCREEN WIPER HOLE CLOSING

CRYSTAL SOCKET WITH SCREW Milled Allen Head M8x35

To use to block FA3H / FA3C filters on "COMPACT" cabins of the previous version with CPCN dome
SMOOTH BUSH WITHOUT INVITATION FOR IRON HINGE OLD TYPE

RUBBER FOR CRYSTAL

COMPLETE KIT OF 2 BUSHINGS FOR GLASS + 1 RUBBER FOR CRYSTAL + SCREW TSB M8
COMPLETE KIT OF 1 BUSHINGS FOR GLASS + 1 RUBBER FOR GLASS + 1 SCREW TSB M8x35 + NUT M8
RUBBER WASHER @40 for SAM and MN4/3 mounting

M8x60 Countersunk Allen Head SCREW FOR DOOR

M8x30 Countersunk Allen Head SCREW FOR SIDE GLASS

M8x40 Countersunk Allen Head SCREW FOR DOORS/FRAMES

M8x35 Countersunk Allen Head SCREW FOR GLASSES

WASHER (Indicate the diameter)

NUT (Indicate the size)

SPRING WITH HOLE @6

NUT COVER M8

NUT COVER M6

HANDWHEEL (Knob with screw) M6x25

To be used on the right + left side ABS filter covers of the new model "COMPACT" cab
HANDWHEEL (Knob with screw) M6x35

To be used for the A/C filter guide inside the passenger compartment + Dome assembly
HANDWHEEL (Knob with screw) M6x50

To be used for CCFT cab roof filter closure cover

RUBBER FAIRLEAD @36 BLACK

RUBBER FAIRLEAD @48 BLACK

PLASTIC UNDER SCREW

PRICE-LIST
€ 70,40
€ 6,50
€ 9,20
€ 220,00
€ 3,30
€ 5,00 /mq.
€ 32,20 Kg.
€ 46,70 Kg.
€ 64,20 Kg.
€ 21,80
€ 370,00
€ 260,00
€ 790,00
€ 690,00
€ 1.320,00

O OO O ON O ONOON O ONO WO OO O WO N OWONOWON O WONO WD)

(ONON O WON OO OGN O WO OWON O WO

)

an

a A

3,70
120,00
230,00
190,00
400,00

24,20
24,20
24,20
17,60
27,50
33,00

6,80
24,20
24,20
24,20
24,20
24,20
24,20

3,30

2,50

0,90

6,80

3,00

3,00

3,70

2,80
2,50
7,30
7,30
1,30
1,10
1,10
1,10
1,10
0,60
0,70
2,70
0,40
0,40
3,10

3,10
3,10
4,80

4,80
0,40

Pag. 1



GSC

TT-01
TT-02
TT-03
TT-04
TT-05
TT-06
TT-07

TT-08

TT-09
TT-10
TT-11
TT-12
TT-13
TT-14
TT-15
TT-16
TT-17
TT-18
=19
TT-20
TT-21
TT-22
TT-23
TT-24
TT-25
TT-26
TT-27
TT-28
=29
TT-30
TT-31
TT-FR140
TT-FR100
CCFT
LIBUGNATO
ABS038
ABS039
13/TP54/AN
TGS
INS-TR
DE-2B
TAP

™

TL-TT
GR-TT
FR-TT

PLR

GPF
ABS021
ABS035
ABS025
ABS040
030010.1TOR
EST

APA

RR1

RR3

TA1l
TSR5/16
TSR13/32
TSR1/2
TSCT
2029083363
VENT-01
VENT-02
RLS-01
RLS-02
MPR
R.RISC.ELET
RD-1
RD-2
RD-3
RD-9
RD-4
RD-5
RD-6
RD-7
RD-8
RD-10
RD-11
RD-12
RSR-G6

HOOK FOR CABIN LIFTING
NN
GREY ROOF WITH TRAP DOOR HOLE FOR ORCHARD CABINS (76cm x 96cm)
GREY ROOF WITHOUT TRAP DOOR HOLE FOR ORCHARD CABINS (76cm x 96cm)
BLUE ROOF NEW HOLLAND TN WITH TRAP DOOR HOLE (121cm x 122cm)
BLUE ROOF NEW HOLLAND TN WITHOUT TRAP DOOR HOLE (121cm x 122cm)
GREY ROOF GOLDONI TRANSCAR WITH TRAP DOOR HOLE (101cm x 92cm)
GREY ROOF GOLDONI TRANSCAR WITHOUT TRAP DOOR HOLE (101cm x 92cm)
GREY ROOF FERRARI AR / SOLARIS Tyres R.20 / TRX / REX GE-F
WITH TRAP DOOR HOLE (81cm x 120cm)
GREY ROOF FERRARI AR / SOLARIS Tyres R.20 / TRX / REX GE-F
WITHOUT TRAP DOOR HOLE (81cm x 120cm)
BLU ROOF VALIANT AR/ TNF WITH TRAP DOOR HOLE (81cm x 120cm)
BLUE ROOF VALIANT AR / TNF WITHOUT TRAP DOOR HOLE (81cm x 120cm)
GREY ROOF FERRARI RS / TTR WITH TRAP DOOR HOLE (81cm x 133cm)
GREY ROOF FERRARI RS / TTR WITHOUT TRAP DOOR HOLE (81cm x 133cm)
GREY ROOF CRONO / R3 T-TB / ATLAS WITH TRAP DOOR HOLE (111cm x 111cm)
GREY ROOF CRONO /R3 T-TB / ATLAS WITHOUT TRAP DOOR HOLE (111cm x 111cm)
GREY ROOF SOLARIS 50 / REX GT WITH TRAP DOOR (102cm x 111cm)
GREY ROOF SOLARIS 50 / REX GT WITHOUT TRAP DOOR (102cm x 111cm)
BLUE ROOF CRAWLER NEW HOLLAND TK / TDF WITH TRAP DOOR HOLE (92cm x 104cm)
BLUE ROOF CRAWLER NEW HOLLAND TK / TDF WITHOUT TRAP DOOR HOLE (92cm x 104cm)
GREY ROOF FRUTTETO3 /LS WITH TRAP DOOR HOLE (92cm x 104cm)
GREY ROOF FRUTTETO3 /LS WITHOUT TRAP DOOR HOLE (92cm x 104cm)
BLUE ROOF CRAWLER NEW HOLLAND TKF WITH TRAP DOOR HOLE (82cm x 104cm)
BLUE ROOF CRAWLER NEW HOLLAND TKF WITHOUT TRAP DOOR HOLE (82cm x 104cm)
GREY ROOF ASTER WITH TRAP DOOR HOLE (82cm x 104cm)
GREY ROOF ASTER WITHOUT TRAP DOOR HOLE (82cm x 104cm)
ROOF FOR UNIVERSAL CABINE
BLUE ROOF CRONO WITH TRAP DOOR HOLE (121cm x 122cm)
BLUE ROOF CRONO WITHOUT TRAP DOOR HOLE (121cm x 122cm)
BLUE ROOF NEW TND/CRONO/R3 T-TB/ATLAS WITH TRAP DOOR HOLE (111cm x 111cm)
BLUE ROOF NEW TND/CRONO/R3 T-TB/ATLAS WITHOUT TRAP DOOR HOLE (111cm x 111cm)
BLUE ROOF SOLARIS 50 / REX GT WITH TRAP DOOR (102cm x 111cm)
BLUE ROOF SOLARIS 50 / REX GT WITHOUT TRAP DOOR (102cm x 111cm)
ROOF DE PIETRI FR140
ROOF DE PIETRI FR100
CLOSING COVER FILTER ON THE CABIN ROOF (To specify cabin model)
SHEET SPONGE EGG
SUPPORT FOR CONTROL LEVERS RIGHT MUDGUARD CAB TND
SUPPORT FOR CONTROL LEVERS RIGHT MUDGUARD CAB JOHN DEERE 5000 M
BLACK ANTHRACITE COATING (Roll Height 200 cm)
LIGHT GRAY CLOTH FOR UNDER-ROOF AND COATED SHEET
SOUNDPROOFING SHEET FOR COATING ON THE TRACTOR PLATFORM
DECALCOMANIA (Specify the cabine)
CARPETS FOR CABINE ( Specify the cabine)
CARPETS (Size on request)

SIDE AND REAR CANVAS FOR UNIVERSAL CABINE
AROUND MOTOR CANVAS FOR UNIVERSAL CABINE
FRONT PART UNIVERSAL CABINE

INSIDE PANEL UNDER ROOF WITH CLOTHING

BRACKET FOR THE HEATING FILTER

PLASTIC COVER FOR EVAPORATOR GROUP AND HEATING

OPENING COVER ON UNDER-ROOF CABIN PANEL

PLASTIC COVER FOR FRONT LOWER "MISTRAL" CAB CLOSING (Specify RIGHT or LEFT)
COMPLETE PLASTIC MOLD FOR CONDITIONER UNIT Model "TC2"
COMPLETE PLASTIC MOLD FOR CONDITIONER UNIT Model "ALASKA"
EXTINGUISHER

CLOTHES-STAND

HEATING TAP

HEATING TAP

HEATING WATER PIPE

LITTLE AIR CONDITIONNING WATER PIPE WITH REDUCED SECTION A/C 5/16"
MEDIUM AIR CONDITIONNING WATER PIPE WITH REDUCED SECTION A/C 13/32"
BIG AIR CONDITIONNING WATER PIPE WITH REDUCED SECTION A/C 1/2"
DRAIN TUBE TRASPARENT CONDENSES

WATER DRAIN CONNECTION @15 WITH SPOUT

POTENTIATED FAN @ 280

POTENTIATED FAN @ 305

RELAIS 30A

RELAIS FOR ELECTRICAL HEATING 12V 180A

HEATING MUSK

ELECTRIC HEATING RESISTANCE

HEATING EYELET PIPE-FITTING @16 (To specify tractor model)

HEATING EYELET PIPE-FITTING @18 (To specify tractor model)

HEATING EYELET PIPE-FITTING @20 (To specify tractor model)

HEATING EYELET PIPE-FITTING @14 (To specify tractor model)

HEATING FIAT PIPE-FITTING @16 (To specify tractor model)

HEATING FIAT PIPE-FITTING @20 (To specify tractor model)

HEATING LAMBORGHINI PIPE-FITTING @18 (To specify tractor model)
HEATING LAMBORGHINI PIPE-FITTING @22 (To specify tractor model)
QUICK COUPLERS FOR HEATING PIPES

HEATING JOHN DEERE PIPE-FITTING (To specify tractor model)

HEATING LAMBORGHINI PIPE-FITTING @26 (To specify tractor model)
REDUCTION + HEATING WATER PIPE-FITTING (To specify tractor model)
QUICK AIR CONDITIONNING COUPLERS FOR PIPE-FITTING G6 - 5/16"

an ah dh A dh dh b an

(OO O OR O N OO WO O ORI OO IO R O N OO SO O N ORI O MO O N OW O NONO I OR O WO O OO an

an

(OO OO ON O W ON O OO OW O WON OO O WON OO O ON O WO OO OWONO OO ON O WONOWON))

10,10

340,00
340,00
390,00
390,00
340,00
340,00
340,00

340,00

340,00
340,00
340,00
340,00
390,00
390,00
340,00
340,00
340,00
340,00
340,00
340,00
340,00
340,00
340,00
340,00
290,00
390,00
390,00
390,00
390,00
390,00
390,00
500,00
450,00

72,60

72,60

48,40

77,00

16,10

36,00

86,60

29,40

60,10

93,50

236,50
115,50
275,00

148,50
48,40
84,70
63,80
55,00

176,00

242,00
35,20
10,40
18,90
55,00
10,30
19,40
21,80
20,60

4,80
11,50

193,60

200,20
17,60
74,80
66,00

209,00
15,40
15,40
15,40
15,40
15,40
15,40
15,40
15,40

143,00
15,40
15,40
15,40

286,00

/ ml.
/' ml.
/ mq.

/' mq.

/ mt.
/ mt.
/ mt
/ mt.
/ mt.

Pag. 2



RSR-G8
RSR-G10
BG-1

BG-2

BG-5

BG-6
BG-10
BG-7

BG-8

BG-9

FALH

FA2H

FA3H

FA4H

FALC
FA2C
FA3C
FA4C
SROEMMA120
COMP-1V
COMP-10
COMP-2
COMP-3
COMP-4
COMP-5
COMP-6
COMP-7
COMP-8
CDST-01
CDST-02
B01200012
B01200029
B01200088
B01200038
106SR901
G01050040
022010
CDST-03
EPRT-02
EPRT-08
EPRT-10
EPRT-05
EPRT-06
EPRT-07
051001
VALV-ESP
V0224015BG
008-A45-02
FTDR-01
FTDR-02
S-FTDR
S-FTDR2
PRES-01
TVENT
TAC

PPST
RMFG6
RMFGS8
RMFG10
RFDG6
RFDGS
RFDG10
RFQG6
RFQGS
RFQG10
RFNBG6
RFNBGS
RFNBG10
RFRBGS
RFRBG10
RFNBVGS
RFNBVG10
RFCSD7G8
RFCVSD7G8
RFCSD7G10
RFCVSD7G10
RGVGS
RGVG10
CINGHIA-AC
IRC

IRC/AM
P02140004-12V
SWITCH-AC
IRCC
MASC-IR
IRI-O

IRI-1

IRI-2

QUICK AIR CONDITIONNING COUPLERS FOR PIPE-FITTING G8 - 13/32"

QUICK AIR CONDITIONNING COUPLERS FOR PIPE-FITTING G10 - 1/2"

BIG HEATING INTAKE + EVAPORATOR Mod. ALASKA

SMALL HEATING INTAKE + EVAPORATOR Mod. ALASKA + "C" COMPACT CABIN
AIR CONDITIONNING INTAKE FOR EVAPORATOR "TC"

REDUCTION AT 45° FOR AIR CONDITIONNING INTAKE FOR EVAPORATOR "TC"
REDUCTION AT 90° FOR AIR CONDITIONNING INTAKE FOR EVAPORATOR "TC"
INTAKE FOR AIR RECOVERY FOR EVAPORATOR "TC" + COMPACT CABIN
SMALL HEATING INTAKE FOR COMPACT CABIN

INTAKE FOR AIR RECOVERY FOR EVAPORATOR "TC" NEW SERIES

AIR FILTER (400 x 120 x 30 )

AIR FILTER (500 x 120 x 30 )

AIR FILTER (260 x 150 x 30 )

AIR FILTER (500 x 120 x 50 )

ACTIVE CARBON FILER (400 x 120 x 30 )

ACTIVE CARBON FILER (500 x 120 x 30 )

ACTIVE CARBON FILER (260 x 150 x 30 )

ACTIVE CARBON FILER (500 x 120 x 50 )

HANDLE FOR REMOVABLE ROOF FILTER

SANDEN COMPRESSOR SD5H09 12 VOLT - VERTICAL CONNECTION

SANDEN COMPRESSOR SD5H09 12 VOLT - ORIZONTAL CONNECTION
SANDEN COMPRESSOR SD7B10 12 VOLT - VERTICAL CONNECTION
HARRISON COMPRESSOR SP10 - VERTICAL CONNECTION WITH TWO RACES
SANDEN COMPRESSOR SD5H09 12 VOLT - ORIZONTAL CONNECTION POLY-V
RS20 COMPRESSOR 12 VOLT ONE RACE

COMPRESSOR SANDEN SD7B10 POLY-V 12V Vertical connection Clutch @100 7272
COMPRESSOR SANDEN SD7B10 POLY-V 12V Vertical connection Clutch @120 7276
COMPRESSOR HARRISON SP10 POLY-V 6 THROATS 12V

CONDENSER H.300 x L. 317 x W. 32

Electric-Airy Condenser complet of filter/bulb and ABS cover mm. 575x360 h.200
SERPENTINE CONDENSER H.270xL.398xW.42

PARALLEL FLOW CONDENSER H.300xL.460xL.19

PARALLEL FLOW CONDENSER H.300xL.298xL.24

PARALLEL FLOW CONDENSER 270X440MM WITH INTEGRATED TRATTORINI FILTER
REDUCED SECTION CONNECTION G06 JOINT C / VALVE FOR NORMAL PRESSURE SWITCH
CAP WITH DRYER FILTER CARTRIDGE FOR CONDENSER B01200038
RADIATOR FOR CONDENSER ON CAB ROOF (Reference CDST-02)

Electric-Airy Condenser complet of bulb and coveyor

EVAPORATOR GROUP C/F Mod. ALASKA

EVAPORATOR GROUP C/F Mod. "TC"

EVAPORATOR GROUP C/F Mod. "TC" COMPACT Cabin 2° SERIES (Indicate with 2 or 4 vents)
EVAPORATOR RADIATOR FOR AIR CONDITIONNING GROUP Mod. AURORA
EVAPORATOR RADIATOR FOR AIR CONDITIONNING GROUP Mod. ALASKA
EVAPORATOR RADIATOR + HEATING FOR AIR CONDITIONNING Mod. "TC"
HEATING RADIATOR FOR AIR CONDITIONNING GROUP Mod. ALASKA
EXPANSION VALVE FOR EVAPORATOR

FAN MOTOR FOR AIR CONDITIONNING Mod. "TC"

FAN MOTOR FOR HEATING GROUP

DEHYDRATER FILTER @70 OR F/F 3/8"

DEHYDRATER FILTER @70 OR M/F 3/8"

PLATE FOR FILTER @70 ORIZONTAL / VERTICAL BLOCK

PLATE FOR FILTER @64 VERTICAL BLOCK

SWITCH FOR PRESSURE

AIR-VENTILATION PLATE

A/C PLATE

PLASTIC KNOB

MALE PIPE-FITTING FOR FEMALE OR PIPE G6 - 5/16"

MALE PIPE-FITTING FOR FEMALE OR PIPE G8 - 13/32"

MALE PIPE-FITTING FOR FEMALE OR PIPE G10 - 1/2"

FEMALE RIGHT PIPE-FITTING O-RING PIPE G6 - 5/16"

FEMALE RIGHT PIPE-FITTING O-RING PIPE G8 - 13/32"

FEMALE RIGHT PIPE-FITTING O-RING PIPE G10 - 1/2"

FEMALE PIPE-FITTING 45° O-RING PIPE G6 - 5/16"

FEMALE PIPE-FITTING 45° O-RING PIPE G8 - 13/32"

FEMALE PIPE-FITTING 45° O-RING PIPE G8 - 1/2"

FEMALE PIPE-FITTING 90° O-RING BLOCK PIPE G6 - 5/16"

FEMALE PIPE-FITTING 90° O-RING BLOCK PIPE G8 - 13/32"

FEMALE PIPE-FITTING 90° O-RING BLOCK PIPE G8 - 1/2"

FEMALE PIPE-FITTING 90° O-RING ROTALOCK BLOCK PIPE G8 - 13/32"
FEMALE PIPE-FITTING 90° O-RING ROTALOCK BLOCK PIPE G10 - 1/2"

FEMALE PIPE-FITTING 90° O-RING BLOCK with CHARGE VALVE PIPE G8 - 13/32"
FEMALE PIPE-FITTING 90° O-RING BLOCK WITH CHARGE VALVE PIPE G10 - 1/2"
FLANGE FITTING 90°G8 FOR COMPRESSOR SD7B10

FLANGE FITTING 90°G8 FOR SD7B10 COMPRESSOR WITH CHARGE VALVE
FLANGED FITTING 90°G10 FOR COMPRESSOR SD7B10

FLANGE FITTING 90°G10 FOR COMPRESSOR SD7B10 WITH CHARGE VALVE
CONNECTION PIPE-FITTING WITH CHARGE VALVE PIPE G8 - 13/32"
CONNECTION PIPE-FITTING WITH CHARGE VALVE PIPE G10 - 1/2"

AIR CONDITIONING BELT (To specify the tractor model)

SWITCH FOR AIR CONDITIONING WITH MECHANICAL SPRING (THERMOSTAT)
SWITCH FOR AIR CONDITIONING (THERMOSTAT)

SWITCH FOR AIR CONDITIONING (THERMOSTAT) FOR AIR CONDITIONNING GROUP Mod. J030100314
SWITCH FOR IGNITION THERMOSTAT

AIR CONDITIONNING SWITCH AT THREE GEAR

COVER FOR 5 BUTTONS

CAP LOCKING FOR SWITCH ON COVER

SWITCH ( Specify the type)

HEATING SWITCH (Specify the type)

a Ay A oah dhdh A A A dh b A A oAb A dh A A AN A A A A A A dh A A AN A A A A A A dh A A AN A A A A A AN A A A AN A A A A A AN A A A A A A A A AN AN A A A A A A A AN A AN A A A A A AN A A A AN A dh b

286,00
286,00
17,60
13,80
13,80
6,10
6,10
19,30
19,30
19,30
50,60
50,60
50,60
50,60
242,00
242,00
242,00
242,00
4,10
544,50
544,50
654,50
544,50
632,50
544,50
594,00
594,00
544,50
280,50
632,50
278,30
231,00
231,00
236,50
31,90
41,80
385,00
550,00
803,00
803,00
803,00
357,50
456,50
247,50
236,50
66,00
231,00
231,00
57,20
57,20
35,20
35,20
50,60
5,10
5,10
8,10
17,20
35,20
29,70
10,40
12,60
15,20
19,40
19,40
19,40
18,20
18,20
18,20
26,70
26,70
35,20
35,20
45,50
43,10
39,30
43,10
24,20
24,20
48,00
55,00
71,50
71,50
17,10
56,10
12,10
2,80
13,20
13,20

Pag. 3



IRI-3
IRI-4
IRI-5
IP-1
VLC
IEAC

IECT

GPT

MAR

PTAC

PTSP

PTSG

PGE

ORP

ORM

ORG
004001TOR
004003TOR
006002TOR
62302EE
N044100014
CCE

CCE2
CCCC
CPCN
CPCV
CPCC

CPCC2

491850
ABS046/1
031002.1TOR
A-2104

LIC

RT01DS
RT11DS
RT21DS
RT31DS
PRBL
SRIC

TCTK-02
TCTK-03
TCTK-04
TCTK-05

CH-1
MNTV
MNTN
MNTC
4970449702
MN1
MN2
MN3/54
MN3/93
MN4/2
MN4/2BF
MN4/1
MN4/3
MN5
MN6
SRTV
SRTN
SRTP
SRTS
SRTC
SCTV
SCTN

PS
TRP
FR-1

FR-2

FR-3

CRT60
FL-1
FL-2
FSA2
FST
FST-1
FST-2
FST-3

ON / OFF SWITCH WITH WORK LIGHTS SYMBOL

ON / OFF SWITCH WITH ROTATING LIGHT SYMBOL

WIPER SWITCH WITH WIPER SYMBOL

FUSE-HOLDER

ELECTRIC CABLE (Specify the use)

UNIVERSAL AIR CONDIT. ELECTRIC SYSTEM - SHORT MOD. 5mt.
Electric system with relay 30 A for under key connection Cabin/Tractor
ELECTRICAL SYSTEM WITH RELAY FOR CONNECTION UNDER KEY CAB / TRACTOR
RUBBER FOR PIPE G8 13/32"

ANTI-CONDENSE PUTTY (ROLL OF 15Mt.)

ANTI-HEAT PROTECTION PIPE

PROTECTION PIPE (SMALL SPIRAL)

PROTECTION PIPE (BIG SPIRAL)

COVER FOR EVAPORATOR GROUP

SMALL OR (FOR PIPE-FITTING G6)

MEDIUM OR (FOR PIPE-FITTING G8)

BIG OR (FOR PIPE-FITTING G10)

PULLEY @90 H. 16mm (Specify the model)

PULLEY @80 H. 16mm (Specify the model)

PULLEY BEARING H. 45mm (Specify the model)

BELT PULL BEARING

COVER FOR EVAPORATOR AND HEATING GROUP

CONVEYOR FOR CONDENSER/ELECTRIC FAN

FILLED CONVEYOR FOR CONDENSER CDST-01 / ELECTRIC FAN
CONVEYOR FOR COMPACT CABIN

AIR-CONDITIONING COVER FOR COMPACT CABIN - 2°SERIES
AIR-CONDITIONING COVER FOR COMPACT CABIN - 1°SERIES

REAR COVER FOR ELECTRIC FAN COVER

Specify the color (BLUE / GRAY / OTHER) and the reference code of the spare parts of the cabin
REAR COVER ELECTRIC FAN COVER FOR ROOFS TT-15/TT-16 / TT-30/ TT-31
Specify the color (BLUE / GRAY / OTHER) and the reference code of the spare parts of the cabin
PLASTIC HINGES WITH SCREWS FOR CPCC COVER
AIR-CONDITIONING COVER FOR COMPACT CABIN - 3°SERIES

COVER FOR CONDENSER ON CAB ROOF (Reference CDST-02)
PROTECTION ANTI-HEATING SHEET (Mt.1 x Mt.1)

INSIDE LIGHT CABIN

DRIVING MIRRORS WITH ONE ARM (Specify right or left) 2°SERIES
DRIVING MIRRORS WITH ONE ARM (Specify right or left) 1°SERIES
DRIVING MIRRORS WITH DOUBLE ARM

DRIVING MIRRORS WITH ONE ARM (Specify right or left) 3°SERIES
PARABLE FOR REARVIEW MIRROR RT31DS

DRIVING MIRRORS ON INSIDE THE CAB

SCREW/TOP WITH SELVAGE FOR CRAWLER TRACTORS REFUELLING
PIPE-FITTING FOR TANK' PIPE FOR CRAWLER TRACTORS
REFUELLING PIPE (SIZE Cm.25) FOR CRAWLER TRACTORS
COMPLET REFUELLING KIT FOR CRAWLER TRACTORS (2° VERSION)
KEYS FOR HANDLE (The pair)

LEVER DOOR HANDLE

BUTTON DOOR HANDLE

DOOR HANDLE SUNKEN INTO THE DOOR GLASS (For crawler tractors)
MNTC HANDLE MOUNTING KIT Includes: 2 brackets + 3 TSB M5x12 screws
OPEN WINDOW HANDLE

INSIDE PULL-DOOR HANDLE

SHORT HANDLE FOR WINDSCREEN, SIDE-WINDOW, ROOF GLASS
LONG HANDLE FOR WINDSCREEN, SIDE-WINDOW, ROOF GLASS
WINDOW HANDLE

PAINTED IRON BAR FOR WINDOW HANDLE ASSEMBLY

WINDOW HANDLE

WINDOW HANDLE

WINDOW HANDLE

HOOK FOR WINDOW HANDLE

DOOR-LOCK (See the picture) - Specify right or left

DOOR-LOCK (See the picture) - Specify right or left

DOOR-LOCK (See the picture) - Specify right or left

DOOR-LOCK (See the picture) - Specify right or left

DOOR-LOCK (See the picture) - Specify right or left

FITTING FOR LOCK cod.SRTV

FITTING FOR LOCK cod.SRTN

SUNSHADE

ADJUSTABLE SUNSHADE CURTAIN

PLASTIC MUSK WITHOUT LIGHT HOLE

(LARGE Version cm. 136 / STANDARD Version cm. 108)

FRONT PLASTIC STRUCTURE COMPLETE WITH 2 ROUND WORKING LIGHTS FST-1
(LARGE Version cm. 136 / STANDARD Version cm. 108)

FRONT PLASTIC STRUCTURE COMPLETE WITH 2 RECTANGULAR WORKING LIGHTS FSA2
(LARGE Version cm. 136 / STANDARD Version cm. 108)

RED ROUND REFLECTOR @60

ARROW (Old Version)

ARROW (New Version)

EXTERNAL / RECESSED RECTANGULAR LIGHT (Replaces the previous discontinued FSA)
ROUND LIGHT WITH PLATE

ROUND LIGHT WITHOUT PLATE

ROUND LED LIGHT 4 LAMPS WITH PLATE

ROUND LED LIGHT 4 LAMPS WITHOUT PLATE

an dh ah Ay Ay dh

(O OW OO O ON O ORI OO O W ON O WONO OO WONO OO

an

(OO WO OWON ) an ah Ay dh

a o aodhy dh dh A A A dh A A A dh A A A AN dh A [ OWONO)

) an dh dh

an

an dh dh Ay A odh dh

28,60
28,60
39,60
23,10
10,50
99,00

83,60
3,70
8,70

22,50
4,40
6,60

127,60
1,00
1,00
1,00

103,40

103,40

93,50

88,00

170,00

35,20

35,20

84,70

308,00

169,40

151,80

151,80

14,30
106,70
173,80

50,60

31,90

57,20
57,20
57,20
57,20
40,70
60,50

77,00
26,40
27,50
121,00

5,50
29,70
29,70
42,90

4,40
27,50
16,50
27,50
27,50
38,50
22,00
30,80
30,80
30,80
11,00
38,50
38,50
38,50
38,50
44,00

8,80

8,80

77,00
121,00
88,00

209,00

209,00

3,30
36,30
36,30
60,50
60,50
60,50
74,80
74,80

/ mt.
/ mt.
/ mt.
/ mt.

Pag. 4



FST-4
FST-5
LAMP-A
LR

LRN
LR-1
LRN-1
T3STOP
CAM-01
SB1
SB2
SB3
SB4
SB5

AMO0326FZ
AMA467235
AM250052
AM675032
AMO094552
SAM

SAMG
TG10470
TG10450
TG10471
TG10471/P
TG10451
TG10452
M41.002221
M41.002245
M41.002237
M41.002065
M41.002135
M41.002178
M41.002177
M010681
M010682
M41.010126
M41.002198
M41.011932
TG6746
TG6846
BR1

BR2

BR3

BR4

BR6

BR7

SP1

SP2

SP3

SP4

SP5

SP6

SP7

GNH
GNHG
GNi1C
GN2C
GN3C
GN1V
GNCA1
GNCA2
GNCA3
GNCA4
GN1B
GN1G
GN1F
GN1A

SQUARE LED LIGHT 4 LAMPS WITH PLATE
RECTANGULAR LED LIGHT 6 LAMPS WITH PLATE
LAMP FOR ROUND LIGHT

FLASHING LIGHT WITH MUGNET
FLASHING LIGHT WITH CLUTCH
FLASHING LIGHT SOCKET WITH MUGNET
FLASHING LIGHT SOCKET WITH MUGNET
THIRD STOP LED

CAMERA WITH CABLE

SILENT-BLOCK

SILENT-BLOCK

SILENT-BLOCK

SILENT-BLOCK

SILENT-BLOCK

GAS SPRING WITH HOLE - overall lenght= mm. 365
GAS SPRING WITH HOLE - overall lenght= mm. 485
GAS SPRING WITH QUICK CLUTCH - overall lenght= mm. 250
GAS SPRING WITH QUICK CLUTCH - overall lenght= mm. 325
GAS SPRING WITH QUICK CLUTCH - overall lenght= mm. 485
GAS SPRING BEARING
JOINT FOR GAS SPRING WITH QUICK CLUTCH
WINDSCREEN-WIPER MOTOR 90° 12V (little pintle) WITH CABLE
WINDSCREEN-WIPER MOTOR 90° 12V (long pintle) WITH CABLE
WINDSCREEN-WIPER MOTOR 110° 12V (little pintle) WITH CABLE
PANTOGRAPH WINDSCREEN-WIPER MOTOR 110° 12V (little pintle) WITH CABLE
WINDSCREEN-WIPER MOTOR 110° 12V (long pintle) WITH CABLE
WINDSCREEN-WIPER MOTOR 155° 12V (long pintle) WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 110° P/L 60 MM.- S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 90° P/L 60 MM. S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 80° P/L 60 MM. S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 110° (little pintle) 35 MM. -S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 80° (little pintle) 35 MM.- S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 90° (little pintle) 35 MM.- S/I - C/C WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 90° (little pintle) 35MM — C/INT. WITH CABLE
WINDSCREEN-WIPER MOTOR 12V 90° WITH COVER
WINDSCREEN-WIPER MOTOR 12V 110° WITH COVER
WINDSCREEN-WIPER MOTOR 12V 90° P/C C/I| WITH COVER
WINDSCREEN-WIPER MOTOR 12V 110° P/C C/l WITH COVER
WINDSCREEN-WIPER MOTOR 12V 175° P/C C/l WITH COVER
WINDSCREEN-WIPER MOTOR 85° 12V
WINDSCREEN-WIPER MOTOR 105° 12V
PANTOGRAPH WINDSCREEN-WIPER ARM length=mm. 360/440 @10
PANTOGRAPH WINDSCREEN-WIPER ARM length=mm. 395/475 @10
WINDSCREEN-WIPER ARM length=mm. 245/325 @8
WINDSCREEN-WIPER ARM length=mm. 335/415 @8
WINDSCREEN-WIPER REAR ARM length=mm. 300/400 @6
REAR WIPER ARM MODIFIED for NH T3.80F / NH T3.75F / COMPACT length. mm. 335/415 @6
WINDSCREE-WIPER BRUSH lenght=mm. 350 SCREW
WINDSCREE-WIPER BRUSH lenght=mm. 380 PLUGGABLE
WINDSCREE-WIPER BRUSH lenght=mm. 450 SCREW
WINDSCREE-WIPER BRUSH lenght=mm. 450 PLUGGABLE
WINDSCREE-WIPER REAR BRUSH lenght=mm. 300 SCREW
WINDSCREE-WIPER REAR BRUSH lenght=mm. 350 SCREW
WINDSCREE-WIPER REAR BRUSH lenght=mm. 450 SCREW

~N,N
SMALL "H" GASKET (between upper window and lower window)
BIG "H" GASKET (between mudguards and cabine)
WINDOW GASKET (for screwed windows)
ADHESIVE WINDOW GASKET
WINDOW GASKET (for crawled tractors)
OLIVE GASKET WITH CORE (for fixed windows)
SMALL CANAL GASKET (mm. 10)
BIG CANAL GASKET (mm. 14)
BACKLING ADHESIVE GASKET
TRASPARENT DUCT SEAL FOR GLASS
BALL GASKET (around bonnet and trap door)
PRIEST HAT GASKET (around bonnet and trap door)
FRITZ MAYER GASKET
ADHESIVE GASKET (Specify the size)

INCREASE FOR ATHERMICS (BRONZED) WINDOWS

VERY IMPORTANT: FOR EVERY ITEM YOU ORDER, PLEASE SPECIFY
DETAILLY TRACTOR TYPE AND CABINE REFERENCE REPORTING
SPARE-PARTS REFERENCE INTO THE CAB (NUMBER AND LETTER)

(O OO O ORI O ORI O N OO IO O IO O IO O ORI O N OO SO O IO O WO IO NN O N OO SOOI ON O WON O OO (O OW OO OWONOWONOWON O ON OO

anidh A dh A dh A oAb dh A dh A AN b

an

74,80
101,20
24,20
105,60
105,60
33,00
38,50
47,30
192,50
48,40
48,40
48,40
48,40
31,90

40,70
40,70
44,00
44,00
44,00
10,50
3,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
121,00
105,60
105,60
50,60
50,60
27,50
27,50
27,50
27,50
19,80
19,80
19,80
19,80
19,80
19,80
19,80

7,70
19,70
11,00
13,20
13,20
14,30

4,80

4,80

4,80

5,90

6,40
11,00
14,30

6,40

11,00

/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.
/ mt.

Net

Pag. 5



